
ה  סימני התחלקות  יתָּ  ' גכִּ

 

 

 :2,5,10  -ב סימני התחלקות

 : 2/5/10רשמו בטבלה כמה צריך להוסיף לכל מספר כדי שיתחלק ב

 
 מספר 

 
 2- יתחלק ב

 
 5- יתחלק ב

 
 10- יתחלק ב

 
 דוגמה:

43 

 
1 

(43  +1  =44 )  

 
2 

(43  +2  =45 ) 
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 (43  +7   =50 ) 

34    

19    

54    

65    

70    

91    

36    

82    
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ה  סימני התחלקות  יתָּ  ' גכִּ

 

 

 תשובות:

 :2,5,10  -ב סימני התחלקות

 : 2/5/10רשמו בטבלה כמה צריך להוסיף לכל מספר כדי שיתחלק ב

 
 מספר 

 
 2- יתחלק ב

 
 5- יתחלק ב

 
 10- יתחלק ב

 
 דוגמה:

43 

 
1 

(43  +1  =44 )  

 
2 

(43  +2  =45 ) 

 
7 

 (43  +7   =50 ) 

34 0 1 6 

19 1 1 1 

54 0 1 6 

65 1 0 5 

70 0 0 0 

91 1 4 9 

36 0 4 4 

82 0 3 8 
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